| Efficiency vs Dxy |
0.5
<

5 S
L | s S S
< A T T
o e e
ko) A T T
e e S A
T T e e
028
PR
O

effi

T e o

005
o+

Rati

=
!

09 56-16-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_mKFii_TTbase
ffici —e— DQM_mKkFit_TT_retrainOIldFiles125_v2_prelimWP_b5iter
| Efficiency vs Dz | —— DOM_mkFit_TT_baseline_6iter

—+— DQM_mkFit_TT_RetrainV2_WP2_6iter
% 05 H N N N

T R S PR R -
> : : : : :

Boab
@) r : : : . .
.35 o Frrereree frorereeeee A
v F : : : : :
O e e R

P35 SO T T —

PSRN S Tk S —

30 20 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


